



Nome: _____

Data: _____ Punteggio: _____

$$\left(\left(\frac{1}{3}\right)^2 - \frac{2}{3}\right) \times \frac{1}{4} + \left(\frac{1}{2} - \frac{3}{2}\right)^2 =$$

$$\left(\frac{1}{5} + \frac{1}{2}\right)^2 + \frac{3}{2}\left(\frac{2}{5} - \left(\frac{3}{4}\right)^2\right) =$$

$$\left(3 + \frac{1}{6}\right)^2 + \frac{2}{3} \times \frac{1}{2} \times 3^2 =$$

$$\left(2 - \frac{1}{2}\right)^2 - \frac{1}{6} \times \frac{1}{2} \times 3^2 =$$

$$\left(\frac{1}{3} + \frac{1}{3}\right)^2 - \frac{1}{2}\left(\frac{2}{3} - \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{1}{3} - \frac{1}{5}\right)^2 + \frac{1}{3}\left(\frac{1}{4} - \left(\frac{1}{3}\right)^2\right) =$$

$$\left(\frac{2}{5} - \frac{1}{2}\right)^2 + \frac{1}{3}\left(\frac{1}{4} - \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{1}{5} - \frac{2}{3}\right)^2 - \frac{1}{3}\left(\frac{1}{4} - \frac{1}{2}\right) =$$

$$\left(\frac{3}{4} + \left(\frac{3}{5}\right)^2\right) \times \frac{1}{2} + \left(\frac{2}{5} + \frac{2}{5}\right)^2 =$$

$$\left(\frac{3}{5} - \frac{1}{3}\right)^2 + \frac{1}{2}\left(\frac{1}{3} + \left(\frac{2}{5}\right)^2\right) =$$



Nome: _____

Data: _____ Punteggio: _____

$$\left(\left(\frac{1}{3}\right)^2 - \frac{2}{3}\right) \times \frac{1}{4} + \left(\frac{1}{2} - \frac{3}{2}\right)^2 = \frac{31}{36}$$

$$\left(\frac{1}{5} + \frac{1}{2}\right)^2 + \frac{3}{2}\left(\frac{2}{5} - \left(\frac{3}{4}\right)^2\right) = \frac{197}{800}$$

$$\left(3 + \frac{1}{6}\right)^2 + \frac{2}{3} \times \frac{1}{2} \times 3^2 = \frac{469}{36} = 13\frac{1}{36}$$

$$\left(2 - \frac{1}{2}\right)^2 - \frac{1}{6} \times \frac{1}{2} \times 3^2 = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{1}{3} + \frac{1}{3}\right)^2 - \frac{1}{2}\left(\frac{2}{3} - \left(\frac{1}{2}\right)^2\right) = \frac{17}{72}$$

$$\left(\frac{1}{3} - \frac{1}{5}\right)^2 + \frac{1}{3}\left(\frac{1}{4} - \left(\frac{1}{3}\right)^2\right) = \frac{173}{2700}$$

$$\left(\frac{2}{5} - \frac{1}{2}\right)^2 + \frac{1}{3}\left(\frac{1}{4} - \left(\frac{1}{2}\right)^2\right) = \frac{1}{100}$$

$$\left(\frac{1}{5} - \frac{2}{3}\right)^2 - \frac{1}{3}\left(\frac{1}{4} - \frac{1}{2}\right) = \frac{271}{900}$$

$$\left(\frac{3}{4} + \left(\frac{3}{5}\right)^2\right) \times \frac{1}{2} + \left(\frac{2}{5} + \frac{2}{5}\right)^2 = \frac{239}{200} = 1\frac{39}{200}$$

$$\left(\frac{3}{5} - \frac{1}{3}\right)^2 + \frac{1}{2}\left(\frac{1}{3} + \left(\frac{2}{5}\right)^2\right) = \frac{143}{450}$$